

Regularity of Variants of Semigroups of Full Transformations with Restriction on Fixed set is Bijective

Piyaporn Tantong, Nares Sawatraksa*

Division of Mathematics and Statistics, Faculty of Science and Technology,
Nakhon Sawan Rajabhat University, Thailand

Abstract

The variant of a semigroup S with respect to an element $a \in S$, is the semigroup with underlying set S and a new operation $*$ defined by $x * y = xay$ for $x, y \in S$. Let $T(X)$ be the full transformation semigroup of the nonempty set X and let

$$PG_Y(X) = \{\alpha \in T(X) : \alpha|_Y \in G(Y)\}$$

where $Y \subseteq X$ and $G(Y)$ is the permutation group on Y . In this paper, we investigate regular, left regular and right regular elements for the variant of the semigroup $PG_Y(X)$.

Keywords: regular, left regular, right regular, completely regular

1. Introduction

Let S be a semigroup and a belong to S . We define a new binary operation $*$ on S by putting $x * y = xay$. The operation $*$ is clearly associative. Hence $(S, *)$ is a semigroup and it is called a *variant* of S . We usually write (S, a) rather than $(S, *)$ to make the element an explicit.

Variants of abstract semigroups were first studied by Hickey (Hickey, 1983). Although variants of concrete semigroups of relations had earlier been considered by Magill (Magill, 1967). The study of semigroup variants goes back to the 1960 monograph of Lyapin (Lyapin, 1960) and a 1967 paper of Magill (Magill, 1978) that considers semigroups of functions $X \rightarrow Y$ under an operation defined by $f \cdot g = f \circ \theta \circ g$, where θ is some fixed function $Y \rightarrow X$. In the case that $X = Y$, this provides an alternative product on the full transformation semigroup $T(X)$ (consisting of all functions $X \rightarrow X$).

For an element a of a semigroup S , a is called *regular* if there exists $x \in S$ such that $a = axa$. We call that a semigroup S is *regular* if every element of S is regular. Regular semigroups were introduced by Green (Green, 1951) in his influential 1951 paper “On the structure of semigroups”. The concept of regularity in a semigroup which was adapted from an

* Corresponding author :nares.sa@nsru.ac.th

analogous condition for rings, already considered by Neumann (Neumann, 1936). It was Green's study of regular semigroups which led him to define his celebrated relations. According to a footnote in Green 1951, the suggestion that the notion of regularity be applied to semigroups was first made by Rees (Rees, 1940-41). This property of regular elements was first observed by Thierrin (Thierrin, 1952) in 1952.

Another important kind of the regularity was introduced by Clifford (Clifford, 1941) in 1941, who studied elements a of a semigroup S having the property that there exists $x \in S$ such that $a = axa$ and $ax = xa$, which we call now a *completely regular element*, and semigroups whose any element is completely regular, are called *completely regular semigroups*. The complete regularity was also investigated by Croisot (Croisot, 1953) in 1953, who also studied elements a of a semigroup S for which $a \in Sa^2$ (resp. $a \in a^2S$), called *left regular* (resp. *right regular*) *elements*, and semigroups whose every element is left regular (resp. right regular), called *left regular* (resp. *right regular*) *semigroups*.

In this paper, we focus the subsemigroup of $T(X)$ defined by

$$PG_Y(X) = \{\alpha \in T(X) : \alpha|_Y \in G(Y)\}$$

where Y is a nonempty subset of X and $G(Y)$ is the permutation group on Y . In 2016, Laysirikul (Laysirikul, 2016) proved that $PG_Y(X)$ is a regular semigroup and it is an inverse semigroup if and only if $|X| \leq 2$ or $Y = X$. Moreover, he also described characterizations of left regularity, right regularity, and completely regularity of elements of $PG_Y(X)$.

For a fixed element $\theta \in PG_Y(X)$, the variant semigroup of $PG_Y(X)$ with the sandwich function θ will be denoted by $PG_Y(X, \theta)$. The aim of this paper is to characterize the left regular, the right regular and the completely regular for elements of $PG_Y(X, \theta)$.

2. Main Results

In this section, we let X be an arbitrary set and Y a nonempty subset of X . Define a subset of $T(X)$ as follows:

$$PG_Y(X) = \{\alpha \in T(X) : \alpha|_Y \in G(Y)\}$$

where $G(Y)$ is the permutation group on Y . For a semigroup S , we denote

$$Reg(S) = \{x \in S : x \text{ is regular}\}$$

$$LReg(S) = \{x \in S : x \text{ is left regular}\}$$

$$RReg(S) = \{x \in S : x \text{ is right regular}\}$$

$$CReg(S) = \{x \in S : x \text{ is completely regular}\}.$$

We investigate the condition under which an element in $PG_Y(X, \theta)$ is left regular, right regular and completely regular, respectively. Throughout of the section, the symbol $\pi(\alpha)$ will denote the partition of X induced by $\alpha \in T(X)$ namely,

$$\pi(\alpha) = \{y\alpha^{-1} : y \in X\alpha\}.$$

Then $\pi(\alpha) = X/\ker(\alpha)$ where $\ker(\alpha) = \{(x, y) \in X \times X : x\alpha = y\alpha\}$.

Theorem 1. Let $\alpha \in PG_Y(X, \theta)$. Then $\alpha \in Reg(PG_Y(X, \theta))$ if and only if $\ker(\alpha) = \ker(\alpha\theta)$ and $X\theta\alpha\theta = X\alpha\theta$.

Proof. Assume that $\alpha \in Reg(PG_Y(X, \theta))$. Then $\alpha = \alpha * \beta * \alpha$ where $\beta \in PG_Y(X, \theta)$ and so $\alpha = \alpha\theta\beta\theta\alpha$. Clearly, $\ker(\alpha) \subseteq \ker(\alpha\theta)$. On the other hand, let $x, y \in X$ be such that $x\alpha\theta = y\alpha\theta$. Then $x\alpha = x\alpha\theta\beta\theta\alpha = y\alpha\theta\beta\theta\alpha = y\alpha$. Hence $\ker(\alpha) = \ker(\alpha\theta)$. It is clear that $X\theta\alpha\theta \subseteq X\alpha\theta$ and noting that $X\alpha\theta = X\alpha\theta\beta\theta\alpha\theta \subseteq X\theta\alpha\theta$, therefore $X\theta\alpha\theta = X\alpha\theta$.

Conversely, suppose that $\ker(\alpha) = \ker(\alpha\theta)$ and $X\theta\alpha\theta = X\alpha\theta$. We obtain via $\alpha, \theta \in PG_Y(X, \theta)$ that $X\theta\alpha\theta = Y \cup (X\theta\alpha\theta \setminus Y)$. For any $y \in Y$, there exists only one $y' \in Y$ such that $y = y'\theta\alpha\theta$ since $(\theta\alpha\theta)|_Y$ is bijective. For any $x \in X\theta\alpha\theta \setminus Y$, we choose and fix $x' \in X$ such that $x = x'\theta\alpha\theta$. Define $\beta: X \rightarrow X$ by

$$x\beta = \begin{cases} x' & \text{if } x \in X\theta\alpha\theta, \\ x & \text{otherwise.} \end{cases}$$

It is obviously, $\beta|_Y \in G(Y)$, that is $\beta \in PG_Y(X, \theta)$. It remains to verify that $\alpha * \beta * \alpha = \alpha$. If $x \in X$, then $x\alpha\theta \in X\alpha\theta = X\theta\alpha\theta$ and $x\alpha\theta\beta\theta\alpha = (x\alpha\theta)'\theta\alpha$ with $(x\alpha\theta)'\theta\alpha\theta = x\alpha\theta$. Thus $((x\alpha\theta)'\theta\alpha, x) \in \ker(\alpha\theta) = \ker(\alpha)$. This implies that $x\alpha\theta\beta\theta\alpha = (x\alpha\theta)'\theta\alpha = x\alpha$ and therefore $\alpha = \alpha * \beta * \alpha$. Hence α is regular in $PG_Y(X, \theta)$. ■

Theorem 2. Let $\alpha \in PG_Y(X, \theta)$. Then $\alpha \in LReg(PG_Y(X, \theta))$ if and only if $X\alpha = X(\theta\alpha)^2$.

Proof. Assume that $\alpha \in LReg(PG_Y(X, \theta))$. Then $\alpha = \beta * \alpha * \alpha$ for some $\beta \in PG_Y(X, \theta)$, so that $\alpha = \beta\theta\alpha\theta\alpha$. Let $y \in X\alpha$. Then there exists $x \in X$ such that $y = x\alpha = x\beta\theta\alpha\theta\alpha \in X\theta\alpha\theta\alpha$. On the other hand, it is clear that $X\theta\alpha\theta\alpha \subseteq X\alpha$. Hence $X\alpha = X(\theta\alpha)^2$.

Conversely, assume that $X\alpha = X(\theta\alpha)^2$. We note that $(\theta\alpha\theta)|_Y$ is a bijection. Thus, for any $y \in Y$, there exists a unique $y' \in Y$ such that $y = y'\theta\alpha\theta$ and so $y\alpha = y'\theta\alpha\theta\alpha$. Let $x \in X \setminus Y$. Then by hypothesis, we choose $x' \in X$ such that $x\alpha = x'\theta\alpha\theta\alpha$. Define $\beta: X \rightarrow X$ by $x\beta = x'$ for all $x \in X$. We will show that $Y\beta = Y$. It is clear that $Y\beta \subseteq Y$, by the definition of β . For the inverse inclusion, let $y \in Y$. Since $Y\theta\alpha\theta = Y$, we obtain $y\theta\alpha\theta = x$ for some $x \in Y$, which is $y\theta\alpha\theta\alpha = x\alpha$. Noting that $x\beta = x'$ where $x\alpha = x'\theta\alpha\theta\alpha$. It follows by the uniqueness of x' that $y = x' = x\beta \in X\beta$ and hence $Y\beta = Y$. Let $x, y \in Y$ be such that $x\beta = y\beta$. Then $x' = y'$, which

implies $x = x'\alpha = y'\alpha = y$. Therefore $\beta|_Y$ is injective. Hence $\beta \in PG_Y(X, \theta)$. Finally, for all $x \in X$, by the definition of x' , we get that $x(\beta * \alpha * \alpha) = x\beta\theta\alpha\theta\alpha = x'\theta\alpha\theta\alpha = x\alpha$. So, we have the complete proof. \blacksquare

Next, we give a characterization of right regular elements in $PG_Y(X, \theta)$.

Theorem 3. Let $\alpha \in PG_Y(X, \theta)$. Then $\alpha \in RReg(PG_Y(X, \theta))$ if and only if $(\theta\alpha\theta)|_{X\alpha}$ is an injection.

Proof. Suppose that $\alpha \in RReg(PG_Y(X, \theta))$. Then there exists $\beta \in PG_Y(X, \theta)$ such that $\alpha = \alpha * \alpha * \beta$ and so $\alpha = \alpha\theta\alpha\theta\beta$. Let $x, y \in X\alpha$ be such that $x = x'\alpha$ and $y = y'\alpha$ where $x', y' \in X$. If $x\theta\alpha\theta = y\theta\alpha\theta$, then $x = x'\alpha = x'\alpha\theta\alpha\theta\beta = x\theta\alpha\theta\beta = y\theta\alpha\theta\beta = y'\alpha\theta\alpha\theta\beta = y'\alpha = y$. It follows that $(\theta\alpha\theta)|_{X\alpha}$ is an injection.

Conversely, assume that $(\theta\alpha\theta)|_{X\alpha}$ is an injection. For any $x \in X\alpha\theta\alpha\theta$, there exists a unique element $x' \in X\alpha$ such that $x = x'\theta\alpha\theta$ by the condition $(\theta\alpha\theta)|_{X\alpha}$ is injective. Define $\beta : X \rightarrow X$ by

$$x\beta = \begin{cases} x' & \text{if } x \in X\alpha\theta\alpha\theta, \\ x & \text{otherwise.} \end{cases}$$

By the uniqueness of x' , we get that $\beta|_Y$ is an injection. Next, we will show that $Y\beta = Y$, let $y \in Y$. Since $\alpha\theta\alpha\theta \in PG_Y(X, \theta)$, $X\alpha\theta\alpha\theta = Y \cup (X\alpha\theta\alpha\theta \setminus Y)$. Then by the assumption of y' , we get that $y\beta = y' \in Y$. On the other hand, let $y \in Y$. Since $Y = Y\alpha\theta\alpha\theta = Y\theta\alpha\theta$, we obtain that $y = x\theta\alpha\theta$ for some $x \in Y$. By the definition of β , we get $x\beta = x'$ where $x = x'\theta\alpha\theta$. This implies that $x' = y$ by the uniqueness of x' . Consequently, $\beta \in PG_Y(X, \theta)$.

Finally, to show that $\alpha = \alpha\theta\alpha\theta\beta$, let $x \in X$, so $x\alpha\theta\alpha\theta \in X\alpha\theta\alpha\theta$. By the definition of β , $x\alpha\theta\alpha\theta\beta = (x\alpha\theta\alpha\theta)'\theta\alpha\theta$ where $(x\alpha\theta\alpha\theta)'\theta\alpha\theta = x\alpha\theta\alpha\theta = (x\alpha)\theta\alpha\theta$. Since $(x\alpha\theta\alpha\theta)'$ is unique, we get that $(x\alpha\theta\alpha\theta)' = x\alpha$. Thus $x\alpha\theta\alpha\theta\beta = (x\alpha\theta\alpha\theta)' = x\alpha$. Therefore $\alpha = \alpha * \alpha * \beta$. Hence $\alpha \in RReg(PG_Y(X, \theta))$, as asserted. \blacksquare

Corollary 4. Let $\alpha \in RReg(PG_Y(X, \theta))$. If $P \cap X\alpha \neq \emptyset$ for some $P \in \pi(\theta\alpha\theta)$, then $|P \cap X\alpha| = 1$.

Proof. Let $P \in \pi(\theta\alpha\theta)$ be such that $|P \cap X\alpha| > 1$. Then there exist two distinct elements x and y in $P \cap X\alpha$. Thus $x\theta\alpha\theta = y\theta\alpha\theta$. By Theorem 3, we get that $x = y$. This is a contradiction, hence $|P \cap X\alpha| = 1$. \blacksquare

Final of this section, we give a characterization of completely regular elements in $PG_Y(X, \theta)$. Recall that, an element a of a semigroup S is completely regular if and only if a is both left and right regular (Petrich, 1999). Hence, as an immediate consequence of Theorem 2 and Theorem 3, we have the following.

Theorem 5. Let $\alpha \in PG_Y(X, \theta)$. Then $\alpha \in CReg(PG_Y(X, \theta))$ if and only if $X\alpha = X(\theta\alpha)^2$ and $(\theta\alpha\theta)|_{X\alpha}$ is an injection.

3. Acknowledgment

We would like to thank the anonymous referees for their helpful comments and suggestions which help to improve the presentation of this paper. The paper is supported by Faculty of Science and Technology at Nakhon Sawan Rajabhat University.

4. References

Clifford, A.H. (1941). Semigroups admitting relative inverses. *Annals of Mathematics*, 42, 1037-1049.
<https://doi.org/10.2307/1968781>

Croisot, R. (1953). Demi-groupes inversifs et demi-groupes réunions de demi-groupes simples. *Annales scientifiques de l'École Normale Supérieure*, 70, 361-379. <https://doi.org/10.24033/sens.1015>

Green, J.A. (1951). On the structure of semigroups. *Annals of Mathematics*, 54, 163-172.
<https://doi.org/10.2307/1969317>

Hickey, J.B. (1983). Semigroups under a sandwich operation. *Proceedings of the Edinburgh Mathematical Society*, 26, 371-382. <https://doi.org/10.1017/S0013091500004442>

Laysirikul, E. (2016). Semigroups of full transformations with restriction on the fixed set is bijective. *Thai Journal of Mathematics*, 14(2), 497-503. <http://thaijmath.in.cmu.ac.th/index.php/thaijmath/article/view/1681>

Lyapin, E.S. (1960). Semigroups (in Russian). *Gosudarstv. Izdat. Fiz. Mat. Lit. Moscow*.

Magill, K.D. & Jr. (1967). Semigroup structures for families of functions I. Some homomorphism theorems. *Journal of the Australian Mathematical Society*, 7, 81-94. <https://doi.org/10.1017/S1446788700005115>

Magill, K.D., Jr. & Subbiah, S. (1978). Green's relations for regular elements of sandwich semigroups. II. Semigroups of continuous functions. *Journal of the Australian Mathematical Society*, 25(1), 45-65. <https://doi.org/10.1017/S1446788700038933>

Neumann, J. (1936). On regular rings. *In: Proceedings of the National Academy of Sciences of the United States of America*, 22(12), 707-713. https://doi.org/10.1142/9789814313636_0020

Petrich, M. & Reilly, N.R. (1999). Completely Regular Semigroups. Wiley, New York.

Rees, D. (1940). On semigroups. *Mathematical Proceedings of the Cambridge Philosophical Society*, 36, 387-400. <https://doi.org/10.1017/S0305004100017436>

Rees, D. (1941). Note on semigroups. *Mathematical Proceedings of the Cambridge Philosophical Society*, 37, 434-435. <https://doi.org/10.1017/S0305004100018065>

Thierrin, G. (1952). Sur les éléments inversifs et les éléments unitaires d'un demi-groupe inversif, *Comptes Rendus de l'Académie des Sciences*, 234, 33-34.